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	Ksp [MgF2] = 3.7 x 10-8


1.
Write the dissociation reaction for MgF2.  Calculate the solubility of MgF2.

MgF2 (s) ↔ Mg2+ (aq) + 2 F- (aq)




x
      2x


Ksp = products/reactants


3.7 x 10-8 = [Mg2+][F-]2

3.7 x 10-8 = [x][2x]2

3.7 x 10-8 = 4x3

x = 0.0021 (or expressed in scientific notation 2.1 x 10-3)

The solubility of MgF2 (aq) is 0.0021 M.  This is the concentration of MgF2 that is soluble.
2.
A student prepares a solution that is 9.5 x 10-3 M in [Mg2+] and 2.5 x 10-3 M in [F-].  Will a precipitate form? 

MgF2 (s) ↔ Mg2+ (aq) + 2 F- (aq)




x
      2x


Ksp = products/reactants


Ksp = 3.7 x 10-8 (from table)


Also, Q = products/reactants


Q = [Mg2+][F-]2
Q = [9.5 x 10-3][2.5 x 10-3]2 

(Note that the F- concentration used is 2.5 x 10-3 

and not twice that)

Q = 5.9 x 10-8
Q > Ksp  



Therefore, a precipitate will form (there is a greater 
amount of ion present than the solvent will hold).

